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BSBOT-S0O101
B.Sc. DEGREE EXAMINATION, DECEMBER - 2024
BOTANY
Introduction to Classical Biology
(Semester - I) (CBCS Pattern) (Regular)

(w.e.f. 2023-2024 Admitted Batch)

Time : 3 Hours Max. Marks : 75

SECTION - A
I.  Multiple choice questions: (30 x1=30)

1. Plant Taxonomy concerned with
a) Identification
b) Nomenclature

c) Classification of a system
d) All the above

A0 HOBLEIED HOOHODHE)
D) HYoD Q) TBEBEO

R) BH NG, Hh50m &) S
2. The principle of botanical nomenclature

a) Independent of Zoological Nomenclature
b) Retroactive

c) In latin
d) All the above
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The Primary consumers are

a) Herbivores
b)
c)

d)

Carnivores
Both

None

DoSR0E DO
D) FoSeIeHD &)
Q) OCotix &)

Descriptive taxonomy is
a) Alpha taxonomy b)

¢) Gamma taxonomy d)

DHBETE,S SO OJO
D) @en HOBGH &)
Q) e HOBGH &)

2]

avae1e3teS osBE0 /0 0, 5050

AATORTDLN
DO BeH

Beta taxonomy
A&B

Sex SOBed

() ooty ()
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5. Abiotic component of Ecosystem
a) Salts
b) Atmospheric gases
¢) Light and heat
d) All the above
DERDED A3, @)l grtio
D) BTN D) DTDVED 0TI
D) SoBHOOMHIBG &) DY

6. 2,4-Dis
a) Insecticide b) Weedicide
¢) Detergent - d) Effluent
2,4-D «0o®
D) DBHIDOLD ) Beng) VOI8O
) &&goed &) DT

7. Crytogams

a) Gymnosperms b) Angiosperms

c) Bryophyta d) None
BePrra),
@) E3T0, ) OORERYG,,
Q)  @o3Rer &) O D
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Literary meaning of photosynthesis, Synthesis
a) In presence of carbon dioxide
b) In presence of Sun light
¢) In presence of water
d) In presence of chlorophyll
B5eaendy HOAIREBOH G, D’rRB@H0, KOZ5E
D) YD SR G HEEoDH?
D) BRES08 HBEOS?
D) DI DB
&) §26%F Havgoss

The total net ATP gain per hexose molecule is

a) 36 b) 38
c) 40 d) 42
37835 SROER,TE Ao D5 ATP engfo
) 36 Q) 38
) 40 &) 42

Which of the following is not a function of stomata
a) Regulation of turgidity of guard cells

b) Loss of water vapor

c) Loss due to guttation

d) Exchange of O, and CO,

4]
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8o &0t HO Ve CInY, HE Bt
D) L Beow 0B DaHose
Q) O 820 E8Hto
D)  BERS setmorm $50

&) O,eam CO,angh
11. A fruit ripening growth regulator
a) Auxin
b) Cytokinin
¢) Gibberelin
d) Ethylene _
DO HOT DD DOHOBEO
D) 68O
) VBAS
D) AP
&) WO

12. The basal region of the ovule where nucellus,
integuments and funiculus merge
a) Raphe b) Auril
¢) Chalaza d) Micropyle
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@omIHO A, 0 oo
Q) O @) wod

D) <Seoep &) D6
13. Pick incorrect statement of Respiratory system
a) Lungs
b) Trachea and with airways
c) Trachea without airways
d) Inand out of air of the blood stream
BB D B, B, HELDHTD DoDEI0G.
D) @sDOBHRD
) RO DHOOH TOHIKRTOSS
D) @D FLom T DHO
&) 88 Ha30530 0308, d e o0k JewHe
14. A partial cleavage is

a) Holoblastic cleavage

b) Meroblastic cleavage
c) Both
d) None
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D) GlepB HOE  ®) HO%pRE HOB

D) Botm &) OO T
Cardiovascular system consists of

a) Heart b) Blood Vessels
¢) Blood d) All the above
S0 DTE éﬁé‘(g 590 080080

D) oG Q) CEoeseeD

D) B0 &) DI
Moriculture

a) Cultivation of mulberry leaves
b) Extraction of silk

c) Promoting growth of silkworm
d) All the above

ot
D) Hogd BB D

D) Ht OBES

[A)

[
N
\

$HENYBDH DEHEOD 8 {?08330135&%0
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B
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17. A germ line of embryo which froms nervous system
a) Ectoderm b) Mesoderm
¢) Endoderm d) None
Tl gD DHHHR Sotso A, 26, 8%
D) 08%aE, ) VGG,
D) DoGGE, &) 26T
18. During gametogenesis, a cell undergoes

a) Reduction divison b) Equal division
c) Mitosis d) None

CAREORD DB, 258 DS S5 E0R

D) BBoY Herwtio Q) DATD DR
R) et &) 6T
19. Which of the following is a functional unit of a
body?
a) Mitochondria b) Cytoplasm
c) Spleen d) Cell
8oB) t3d° BB G, HOFHS 0HiedeS HD?
D) DeSPseofosn &) deSapeo
R) S &) S
SA-1128 8]
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0. Which of the following is known as the suicide bag

of a cell?
a) Mitochondria b) Golgi Complex
c) Lysosome d) Nuclei

BoB T80 B VS 6H AFRE w0 OD HEORRD?
D) FeFPseoiosr Q) 6% 5085
%) S &) Sorseeen
21. A cell organelle that is present in animal cells but
not present in plant cells is
a) Cytoplasm
b) Centrosome
c) Mitochondrial
d) Golgi complex
20,08 Beg B8 SOT Bt 0HADDHEN, 508 Aok, Begowd® GOLD
D) ePpao Q) ROLPIIR
D) BoePeeQond &) 6°9 59025,
22. The correc? sequence of stage of mitosis is
a) Prophase, Metaphase, Telophase, Anaphase
b) Prophase, Metaphase, Anaphase, Telophase
¢) Anaphase, Telophase, Prophase, Metaphase

d) Telophase, Anaphase, Prophase, Metaphase
SA-1128 191 [PTO.
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D) PV, B, N, E3G5H
D) OPR, BETHR, Q&{)K), a6
&) BHFPR, oD, AP, PP

. The central dogma of molecular biology states that
genetic information flows.
a)  Only one direction,from DNA to RNA Protein
b) Only one direction, from RNA to DNA to

Protein

¢) Botha&b
d) None of the above
DB BS5TIHO A0, Bog MEpoBo @k, VERERE0
DDIPNOLD DE08.
®) DNA #0086 RNA 008 25638 555 28 2.8 &
) RNA 0086 DNA &00& 25658 555 258 25 @
V) o oo &) Bothrw

e

1o
)

&) 23D s
24. The start codon is
a) AUG b) GUG
c) A&B d) UAG
aptogs B9
D) AUG ®) GUG
V) D& D &) UAG
SA-1128 [10]
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25. Inorganic chemistry deals with
a) Structure & reaction of carbon compound

b) Structure & reaction of non- carbon compound
c) Both

d) None
BB BRODHBTIV0 85570008
D) SIS WMaE,HHO G0, ATR0 KOO HASS,
2)  TPO-BES DaN,HH0 Chus, ATR,HO &0 DB,
Q) Cotr
&) OO S
26. Analytical chemistry costitute of

a) Qualitative assay

b) Quantitative assay
c) Both

d) None

SSDBES B0y HFH0D

D)  DHeFBS DI )
Q) HOHTERBE HBED

Q) Cotsn

&) &8 o
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27. Physical chemistry includes
a) Plfysical properties of compounds
b) Concepts of physics
¢) Both
d) None

32355 BRRHO B doknoD
) E{Jc';i;a;me) OB eFrFen
D) 8 Fug grisiden

Q) Botin

&) DO

28. The hydrophobic force
a) Negative non-covalent force
b) Positive non-covalent force
¢) Negative covalent force
d) Positive covalent force

PGB8 PG,

D) DBERO DGARRHD 5B

&) DOERe RO-89308085 P8,
V) DR DoBRadHAH B

&) eBe3sS OB RBHAH B
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29. The weakest bond is
a) Covalent bond  b) Ionic bond

¢) Hydrogen bond d) None

2OIRBIH WOLO
Q) HocIRadan wogo @) ®oRDE wogo

) RS wogo &) 56

30. The bond in which no sharing of electron pairs is
a) Non covalent bond
b) Weak covalent bond
c) a&b
d) None

030335 2850 2RIRE0 B OGO
9) HHAREHAD BOLO

)  @olnd dEciradob oo
) oo D

&) 6T
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II. Fill in the blanks (10 x 1 = 10)

1) The abbreviation of ICZN
ICZN 30, HOBHBSED

2) Trinomial nomenclature contains the name of the
organisms into genus, species and

BIOHS TeEBES00 FHe DL 230, 2BILV
VOO 70 BOB 0008,

3) The Monera consist of bacteria and
SRJ0e e L00e oo QD BOB 50e0o.

4) Thyroid gland disorder causes disease

P00 OO BHtS,E TRED BOBI0D

5) Loss of water from plants in the form of water |
vapour is called |

&3 8D BEreHOoSS S50 5008 3D S‘seﬁjaﬁtsag
_ &0érR.

6) The system is kKnown as gastroinstinal
system.

D550 ST 550 ©0est.

7) The type of cell division in bacteria is

——

2R 800K5S8 B s 580
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) 1 . 8 > 1 H 1
8) The type of Ribosome in plant cell is
R0, B0 Jes¥idn Bt50

( m Y . 7n 1 . TR, ¢ < 1 1
)) The science which deals with medication
work

E00tHO HVH HHETOOT B0
10) branch of chemistry related to

manufacture of new products.

525 G5 BOROE HODOPHOLDID BERODHD TIYO

SECTION - B
[11. Very short answer questions. (15x1=15)

1) Define food chain?

35385 (200D 8)(50513)0606‘9?
2) What are hot spots?

55565 2e5e0 @08 DOEI?
3) What is Global warming?

5365 502,00 @063 HEVE3?
4) What is photolysis of water?
863 66OV 9063 DI ?
5) Whatarc lenticels?
BotID, 03 DHEEIT
SA-1128 [15] [P.T.0.
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6)  What is Polysiphonous?

CDORDFON @OLS DEV3?
7)  Define apiculture?
SISOl DB, DoeS0?
8) Name the primary lymphoid organ?
DL oysand 8500008 DB D80s?
9) Which organ system regulates other organ systems?

O OS50S SB5F EE OB ANS 55 YD
DODOB0O?

10) Define cell theory?
Bea DTROTR DY D008 ?

11. What is function of Endoplasmic reticulum?
DO&3RR,E B30 G308, HO D3 ?

12. What is charged t-RNA?

8 BoD8S t-RNA @065 DHD0e3?
13. Define biochemistry?

330'33?’@3)3@3:{) DB, DoSob 7

SA-1128 116)
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14. Name the branch of chemistry which involves
natural environment?

R0E0e3 DOVHEETRY) BOB i TRPODHD T TP

15. Name the type of covalent bonds where the
electrons are shared unequally by the atoms?

DOZY DESTEVHO T30,0 DRIBOT HOTED
DBOABTBAOL 20570 S50 OO

IV. Match the following.

1) Primary producer a)
2) Lympathic system b)

SA-1128

3) Geochemistry

4) Asilk secreted by

5) Decomposer
6) DNA content
doubles

7) Light reaction

8) Nucleosome

9) Ovule develops

from
10) Sharing of

electrons

[17]

c)
d)
e)
£)

g)
h)
)

J)

[10x1=10]
Microconsumer
30A thickness of
chromatin
Hill’s reaction
Autotrophs
E.Placenta
Covalent bond

Study earth systems
Immunity
Interphase

Salivary gland

[PT.O.
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1) Dosgos O, D) BogisR,I0

2) SO0 ) 30 A §56763S &00tso

3)  cIRERY 2) 30 o, HBES;

4) oo pDod ety &) @R

5) &soRdseb ]) RO

6) Bo&ot5 BeJoR) BHBoD  DP) HEBAPRIOD OO

7) =08 98, &) 80 BFSHOD B0
waDods

8) &mBRai 30565506555 <

9) D0 o0 @@5&% &) gzoégég_)

WOLDEHO0D
10) DR IR0 &) erenzo Koo
SECTION - C

V. True of False. (10x1=10)

1) The naming of new plant species is regulated by

the International rules of Botanical Nomenclature

528 ) eRB0 DD EPEROBS oS0 G, osmRA0D
[+

DOHEROE DADOBO B0,

SA-1128 [18]

\
!
!

Scanned with CamScannef



BSZ0-S0101
2) The Class more sapecific level of classification
than the Kingdom in Taxonomy.

S5O ToHos? Bohtid ol BB BB G0,

K)g@@(gw.
3) The term chromosome literally means
coloured bodies.
§IBREDH O HredS eFmeen BotHw FDTeRD 9D BYo.
4) Viruses do not follow cell theory.
BB S QTROBTR) BIHHOOL).
5) The antenna complex of PS II absorbs longer
wavelengths of light..
PS II c3ws, ofroe 50025 5008 A3, Setsas
BBOHRROD {Rrei080.
6) C3 plants are twice as efficient as C4 plants in
terms of fixing carbon dioxide.
Sl 508 & 8,05 H0HoS C3 spoty C4 apoky
5063 Both Gk HEDFBOBOM ST,

7) The Musculoskeletal system provides strength,
posture and movement of the body.

50700, (& 2,8 BB OB Ak, w0, g0y
SO0 BEDED GODROR.

SA-1128 [19] [P.TO.
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8) The Respiratory system helps to regulate the
body's pH balance

B3, 065 BB WO60 WBws, pH D5850,55;
DADOBOLSEOD DD,

9) Weak bonds are primary bonds.
DOl BOGRED HHHY LOTReD.

10) Vanderwaal’s forces are attracting both
molecules and atoms.

TPOBORES 2eReD BrHLD HOAXY HESPEID)

So&0e3D 850, TR0,

O 9O D
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